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General Instructions :
Read the following instructions very carefully and strictly follow them :
(1) Question paper comprises four Sections, A, B C and D.
There are 35 questions in the question paper. All questions are compulsory.
(it) Section A — question no. 1 to 20 are very short answer type questions,
carrying 1 mark each.
(iti) Section B — question no. 21 to 28 are short answer type questions, carrying 3
marks each. Answer to each question should not exceed 80 words.

(iv) Section C — question no. 29 to 34 are long answer type questions, carrying 5
marks each. Answer to each question should not exceed 120 words.

(v)  Section D - question no. 35 is map based carrying 6 marks with two parts
35 a from History (2 marks) and 35 b from Geography (4 marks).

(vi) Answer should be brief and to the point. Also the-above word limit be
adhered to as far as possible.

(vit) There is no overall choice in the question'paper.. However, an internal choice

has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach MAP along with your answer. book.

(ix) In addition to thi “i&arate instructions are given with each section and
question, whereve@cessary.

NS
N
@$ Section - A
1.  Which one of the following was NOT the result of the Treaty of Vienna 1815 ?
(a) The Kingdom of the Netherlands was setup in the North.
(b) Austria'was given control of Northern Italy.

(¢) Prussida was given important new territories on its western frontiers.

(d) Russia was given German confederation of 39 states. 1

2.  Explain the meaning of ‘Begar’. 1

3.  Distinguish between ‘Organised’ and ‘Unorganised Sector’. 1
OR

Explain the meaning of Disguised Unemployment. 1

(327203, 3 PT.0.
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Suggest any one measure for the development of any activity of ‘Secondary
Sector’. 1

5.  Study the table and answer the question that follow :
Some comparative data on Haryana, Kerala and Bihar

Infant Mortality | Literacy | Net Attendance Ratio (per 100
State Rate per 1,000 Rate % | persons) secondary stage (age
live births (2016) | (2011) 14 and 15 years) 2013-14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43

Sources : Economic Survey 2017-18 Vol. 2. Government of India ;
National Sample Survey Organisation. (Report No. 575).

Which State has the highest literacy rate ? 1
6. Match Column A with Column B and choose the correct option given below :
Column A Column B
(a) Prosperous farmers from Punjab. (1) More days of work and better
wages.
(b) Landless rural labourers. (1) Availability of additional sources
of irrigation facilities.
(c) Farmers who depend only on (111) Higher support prices for their
rain for growing crop% crops for farmers.
(d) A girl from a rich u@l family. ~(1v) She gets as much freedom as her

& brother. 1

7. Suggest any on@ay to.pay equal wages to women 1in all areas of work as
equal to me@ 1
OR

Suggest any one way to change ‘family laws’ of all religions. 1

8. Identify the correct option of power sharing on the basis of different levels
of government.
(a) Among different pressure groups.
(b) Among different social groups.
(¢) Legislature, Executive and Judiciary.
(d) Union Government, State Government and Local bodies. 1

9. Name the first major sea port developed soon after Independence on the

Western Coast. 1

OR
Name the inland riverine major sea port of India. 1
(327203, 5 P.T.0.
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(a) TS (b) HAREH

(c) TSTEIM (d) HeI I 1
11. TRa<x 868 3. # Sig SHHE T ! qfgd fepall ? 1
12. ‘3T Yooh’ IT6G oh! TRATING ST | 1

AT

GATS I FATE ? 1
13. sfcsam & e yq@ w9 & ffofaa § 9 % o g Wi dierd § 7

(a) a9 S (b) TII%

(c THaE= d) wEaHE 1
14, Vg-HEIHAIG WG oh! SATEAT HINT | 1
15. e T 1 gfd T :

fSifen S veet vga e § T Y1 o T 3T | 1

AT

%amgaﬁqﬁhmgﬁa@qﬁqgaﬁ TendTar BTt | 1
16. TofscTanefie s %aﬁ%wm?ﬁﬁmﬁﬁaﬁﬁmmwaﬁm

(a) %ai?ﬁ %ﬁwﬁ?ﬂl (b) 3T THR g T=~Id feha 7= |

() 3I=e Tt eaeh o | (d) I 3= BT W B e | 1

17. “Hgu GEhid 3 WBTETE Shifd o fofu rgeqer aitfeufaai = 17 f=ferfaa @ & %9 @
foshed e i fE wtar g ?
(a) BUTE % FeTd FHICH o feidehi o fI=mi sl JHR 3T |
(b) NG = IMefehar 37 FRepITaTe T AT U hY |
(c) TR A UGRAT hl HaTe 9 ae-faare i Tt wwhid i S ez |

(d) HEU TR = hadA HedA a7 oh T HT THI ToRAT | 1
18. Iuged =1 & FfcTRad arfetent sl 90 HITT :
e o JATYR W HHTYA] o TR
YA 3IGTE0T / IR
A? TRTE, ATeATs 317fG
B? feram 1 @t Y s Y+ lh=1
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10. In which of the following States is Kakrapara Atomic power plant located ?
(a) Gujarat (b) Karnataka
(¢) Rajasthan (d) Madhya Pradesh
11. Which country printed the Buddhist Diamond Sutra in 868 A.D. ?
12. Define the term ‘Tariff’.
OR
What is a ‘Fly Shuttle’ ?
13. Which two languages among the following are prominently spoken by Belgium
Nationals ?
(a) French and English (b) Dutch and French
(¢) Russian and Dutch (d)  Russian and French
14. Explain the term ‘majoritarianism’.
15. Fill in the blanks :
The printing press first came to Goa with missionaries.
OR
Catholic priests printed the first book in 1579 at Cochin.
_— Q :
16. Why were the Bibli héque Bleue popular in France ? Choose the correct
option from the fol ng :
(a) They wereghigap and small books.
(b) They we omoted by the State.
(¢) They voluminous and colourful.
(d) They were printed.on good quality of paper.
17. “Print culture created the conditions within which French Revolution
occurred.” Which one of the following option support this statement ?
(a) Print popularized the ideas of the enlightened thinkers.
(b) Provided a critical commentary on modernity and despotism.
(¢) Print created a new culture of dialogue and debate of clergies.
(d) Print culture spread the views of Nobility only.
18. Fill in the blanks of the following table with suitable information.
Type of Resources : On the basis of Ownership
Resource Examples / Type
A? Grazing grounds, ponds etc.
B? Cultivated land of farmer. YBb+Y%=1
(327203, . P.T.0.
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25.

ElE
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T A 9 &R B 4 8 HEl faehed o1 =9H IS |
WY A W B
(a) TRENARIFHHEE () TR
(b) =g AT st w (i) @S
(c)  SlagrEe h @ (ii)  3nfssm
(d) HAA dd & (v) IIHH 1
Ty | frd T Sl o TS T o feTe STAT SITam 8 | 1
QuE - @
“FTfSa e o HHTTIT sl TSI LT o 1Y Hetd & |” 38 YT o1 Yook shifore | 3
A

“WTTR T &reh <h1 Feft TEnatl § HH E9 8 Hafg T8 2 @R 17,39 Y 1 Yoo i | 3
WA § ¢ (Y28) TN & THE 3T foheg| 11 THE GHEIIS 1 UM HIT | 1x3=3

AU
forel 7 3 i 1 TR Y AT Fo] e o i | 1x3=3
WL e afofa w%&ﬁﬁrﬁaﬁq%ﬁwﬁww@ﬁm 1x3=3
wm%mm%mmwﬁmww% Sarai e Her )
qft Hifvr | S 1x3=3
mmmﬁ@%mﬁmmmmwm

AT A L ?

mgﬁagw%%aw{m (1909) ® wgTenT meft 3 a1 o for vyra | fafew wme=
YT o TR | 21 €iud g3 o 3TR I8 e $E) T o R0 Il 91 @l 2 | 3R IR
o TN STIT FEIWT 998 o & a1 91e7 W) o it fsrfewr smem gg Smom 37k wewet <6 T &t
STt |

JTHEAT 1 T ST S &1 Hehal o1 ? Mefish 1 germa o1 o6 I8 HATgier wueg
T T 3T T TR | T8 T8e! ART bl SRR g &1 718 Ueredt el S =feT 37k awent
ATeRTT, T, qferE, Jrgrerdl, faamit aiwgl, Thetl JHI foeel a3l 1 afgsehr T =iy |
3R TR g T TAT ST 8 1 saTaeh Gfea sras 31 oft 31 foman Sme | 1920 6
Tt W TTES 3TR iehd JTef TG o foTe TR e 5T ¢ W H I hid T/ |
(25.1) TiTefisht 3 wia § fsrfest s @ o & foru fope gi@m smmen ?
(25.2) U IRA | 7 9 ?
(25.3) 3THEANT I JMEI S o foTT Tiefist o fommi ol T Hifu | 1x3=3
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19.

20.

21.

22.

23.

24.

25.

Choose correct option from Column A and Column B.
Column A Column B
(a) Mayurbhanj Iron Ore Mines (1) Gujarat
(b) Chandrapura Thermal Power Plant (11) Jharkhand
(c) Bauxite Mines (i11)  Odisha
(d) Kalol Oil Fields (iv) Amarkantak

Fill in the blank :
1s well known for effective use of wind energy in Rajasthan.

Section - B
“Workers in the organized sector enjoy security of employment.” Evaluate
the statement.
OR
“All the services of the ‘service sector’ are not growing equally well.”
Evaluate the statement.

Describe any three major problems faced by the Jute industry in India. 1x 3=

Describe any three characteristics of ‘Union List” mentioned in the Indian

Constitution. 1x3=

“Advancement of international trade.of a country is an index to its

economic prosperity.” Sl&@ort the statement with examples. 1x3=

Read the source g‘ below and answer the questions that follows :

(&~ Why Non-cooperation ?
In his famou k Hind Swaraj (1909) Mahatma Gandhi declared that
British rul &s established in India with the cooperation of Indians, and
had survived only because of this cooperation. If Indians refused to
cooperate, British rule in India would collapse within a year, and swaraj
would come.

How could non-ceoperation become a movement ? Gandhiji proposed that
the movement should unfold in stages. It should begin with the surrender
of titles that the government awarded, and a boycott of civil services,
army, police, courts and legislative councils, schools, and foreign goods.
Then, in case the government used repression, a full civil disobedience
campaign would be launched. Through the summer of 1920 Mahatma
Gandhi and Shaukat Ali toured extensively, mobilizing popular support
for the movement.

(25.1) What was the weapon of Gandhiji to fight against British Empire in India ?
(25.2) How did the British survive in India ?

(25.3) Explain Gandhiji’s idea for making non-cooperation as movement.

1x3=
.| 9 P.T.O.
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.‘ZEIG. f51¢1 H T W1 o HHT i o gl o4 TWTall <l T8 IR | 1x3E|=3
W@ﬁ%@@%wm@awﬁwéﬁmﬁaﬁ?@m%wﬁmﬁ@ﬁ%
forgi o shrvrt ol Ty e | 1x3=3

27,  UATERU RO & GUR & foTe 618 o 3uT Famsd | 1x3=3

28. VR TSHT | ATSIETRRaT i fehra! fiH FHEATSTT 1 qUH HIT | 1x3=3
mﬁ%&ﬁwﬁ%ﬁ%mﬁﬁ?mﬁmwwﬁ@ml 3

T -7

29. St % TehIH § i fareATeh 6t yftrent w1 Ty Hif | 5
W%@wﬁ@g@iﬁmﬁiﬁmaﬁwaﬁml 5

30. SR Sfiferrt fatg TR anforfsae Y § TR T HINT | 5x1=5

31. WA SiFar ardt < fohell e fereranati <1 @i <hifore | 5

32 TfciRaa |l i 9feu 3ficHsh = QT TU ST o I fTRaT ;

|id — A ITer, Tmigi it ag ymaw

SArehaa 8 Ted ST 78 Bl 2 o STl b1 319 SIS I T SRR 3TN SmEeR W
TRETT SR B\ TR -Sd. IR JUTEYd 31 S o T o ot ol ufsen |
rfierl S BoHem BT ST arfes A o Jfd fSHeR TR §9 Toh 3T TR aAr
1 Al 3T 3Efiel W e ¢ |

| — B anfdier Talg 3R forerm

TATRITE ATt A ferehfird <21 3T AehdiiIeh STIEAT Tl A forehfird <3 o &9 T 37T
0 1 | T EH I ST Tehd & foh 0 HIH! H Silehdil=ieh sere aHTemg! § & fUse |
Ald — C ANTRERT ht TR 3R ATset

A § SAhdleh SAGET 4 HHASR 3T HewTd 1 FTHR g8 il o ANl o THH gal
3R THT 319 6 g4 ! & e 8 | 31 off SfeTa WewTd 3T g o 3ISTEvl ¢ i
TAd & T 3Toh 98 | HALH A1 Al 9 T8 alal | FHad: $ET TEHE W Fed 3TH AN
39 ARt il % Ufd SImer =iehd gu # |

|id — A ITer, Rer i g waa

(32.1)  ATehdlileh TR ANTIEhT bl Tifaeh folg i o1 fewan 8 st 2 2 1
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217.

28.

29.

30.

31.

32.
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Explain any three reasons for the domination of silk and cotton goods of India

in the International market, before the age of machine industries. 1x3=

Suggest any three ways to improve the environmental sustainability. 1 x 3 =

Describe any three problems of communalism in Indian politics. 1x3=

OR
Describe the problems of low representation of women in Indian
legislature.

Section - C

Explain the role of Otto Von Bismarck in the Unification of Germany.
OR
Explain the role of Giuseppe Mazzini in the Unification of Italy.

=
Explain any three effects of scraping Corn laws in Britain. 1x3=

3

3

3

3

5

Distinguish between primitive subsistence and commercial farming. 5x1=5

Describe any five features of Bharatia Janata Party.

Read the following sources and answer the questions that follows :

Source A - Accountable, responsive and legitimate government

In a democracy, we Kéb ost concerned with ensuring that people will
have the right to ch %e their rulers and people will have control over the
rulers. Whenever sible "and necessary, citizens should be able to
participate in ision making that affects them all. Therefore, the most
basic outcome emocracy.should be that it produces a government that
1s account to ‘the ecitizens, and responsive to the needs and
expectations-of the citizens.

Source B - Economic growth and development

The difference in the rates of economic development between less
developed: countries with dictatorships and democracies is negligible.
Overall, we cannot say that democracy is a guarantee of economic
development. But we can expect democracy not to lag behind dictatorships
in this respect.

Source C - Dignity and freedom of the citizens

Democracy in India has strengthened the claims of the disadvantaged and
discriminated castes for equal status and equal opportunity. There are
instances still of caste-based inequalities and atrocities, but these lack the
moral and legal foundations. Perhaps it is the recognition that makes
ordinary citizens value their democratic rights.

Source A - Accountable, responsive and legitimate government
(32.1) How does democratic government develop mechanism for
citizens to be the part of political decision making ?

5
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35.

| — B anfdies wglg iR fawm
(32.2)  Tord &2 A &H e Tohd & b Alehaa T forehd o fofw & tar 2 7
39 IR 1 < foigati & w7 IR | 2

Hid — C TRt <t TTRET 3R A=t
(32.3)  ford &g ok ciTehas SAfa <ht TIAT 3T TSI ol S@Tal ¢l & 7 Ush 3ETatvl

o T WY HIVT | 2
‘TR ToTe o6 T & 3NU=Te Al hl HRYTA! W A T@dl 8 |7 36 YA i
IeTELon Afgd gfE HifT | 5x1=5
AU
“Ta3 TERIT THE hoIgR] ohi SKUMLR 61 HHY 6T TR T IR | Heg Hid ¢ |” 39 HAH
T IeTeLvll Afgd gfY It | 5
AR | J9eentur o THTE] o1 forgeiwor Shifse | 5x1=5
@ uE -9
A= sneia g9

(a) < U ‘A’ FHI B’ feu T wid % T WaT-artes 8§ 3ifehd fpy e R |
&N o F=fefaa Il 6 gerar A vsaiFY 3R 39 TEl AW AFT W
(A) I TN &l ATAATSTAT ST SRS FTT |

(B) o1& ¥ &l M ¥t e Hrgll o v H weamwg T | 1x2=2
(b) 3 feT MU WRa =t # fmfofaa § @ fedl =m 1 Suge

%@ﬁmﬁqﬁ% #m%ﬁigq

() fezﬁ\@

(11) S?ﬁ'{ — Fﬁ'ﬁﬂ'@[?ﬁﬁﬂéﬁ’

(111) W@F’R ~ TAiET 3R 3T A

(v) e — TR SIS UTeh

(v) =% — W HE T

(vi) AR e IICEAEI R D 4

: Frafoiaa uw Fhaet givafom udenfeiat & fore uva v 35 & wm W, e 8: &

I e :
(35.1) 3G T o1 A4 foiRgu &t Sferartare am gcamenTe 331 |
(35.2) 38 TM 1 AW fAIRae STt refish = gt et worgll o vet ® wemrs fora |
(35.3) 3| TJM 1 AW TARGT &l WA UL I T JTREA¥H 1927 H g1 T |
(35.4) 39 TS 1 AW feaiae &t feadt afg fa 2 |
(35.5) 3| U o1 T faRaw <& ¢l oiig SEEh @M ¢ |
(35.6) 3G T o1 A1 forRgu &t RIS IR PR R
(35.7) 3€ U &1 9 foiflay Sief Aiugt digeswm Sorieis qreh {2 |
(35.8) 3| TS o1 A9 foaRaw sraf ==1s Tl vae fua 2 | 1x6=6
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Source B - Economic growth and development
(32.2) To what extent we can say democracy work for economic
development ? Elucidate your answer in two points. 2
Source C - Dignity and freedom of the citizens
(32.3) To what extent democracy promote dignity and freedom of
individual ? Elucidate with an example. 2

33. “The Reserve Bank of India supervises the functioning of formal sources of

loans.” Support the statement with examples. bx1=5
“The Self-Help Groups help borroOWRers to overcome the problem of lack of
collateral security.” Support the statement with examples. 5
34. Analyse the effects of globalization in India. bx1=5
Section - D

Map Based Question
35. (a) Two features A and B are marked on the given political outline map
of India. Identify these features with-the help of the following
informations and write their correct names on the lines marked near
them.
(A) The place where Jallianwalla Bagh incident took place.
(B) The place where Gandhijivorganized ‘Satyagraha’ in favour of
cotton mill workers. 1x2=2
(b) Locate and labels% four of the following with appropriate symbols
on the same giv@ political outline map of India.

(i) Tehri (§» — _Dam

(11) Indorely — . Cotton Textile Industrial Centre

(111) Vij gar —. _ Iron and Steel Plant

(1v) a —. Software Technology Park

(v) Chennai —  Major Sea Port

(vi) Tarapur - Nuclear Power Plant 4

Note: The following questions are for visually impaired candidates
only in lieu of Q. No. 35. Attempt any six questions.

(35.1) Name the State where Jallianwalla Bagh incident took place.

(35.2) Name the place where Gandhiji organized ‘Satyagraha’ in favour
of cotton mill workers.

(35.3) Name the place where Indian National Congress Session of 1927
took place.

(35.4) Name the State where “Tehri Dam’ located.

(35.5) Name the State where Durg iron ore mines located.

(35.6) Name the State where Vijaynagar Iron and Steel Plant located.

(35.7) Name the State where Noida Software Technology Park located.

(35.8) Name the State where Chennai sea port located. 1X6=6

(327203, 13 P.T.0.
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